/1 DIYNM NPMIVPON _ 7 _
711003 51D Y'ywn AN

VHDL H950 MIN’H DAY Y P9

L7193 25 - NORY H3D) 8-5 MONWYN 121 NINSY NNN NINY DY NIy

5 NHNY
DDMDN HPNIV0 NN NINNNT , VHDL Nava nmon 1ond

1. ENTITY EX1 IS

2. PORT (x:IN BIT VECTOR (3 DOWNTO O0) ;
3. s:IN INTEGER RANGE 0 TO 3;
4. yv:0UT BIT) ;

5. END EX1;

6. ARCHITECTURE behave OF EX1 IS
7. BEGIN

8. PROCESS (x,s)

9. BEGIN

10 FOR i IN 0 TO 3 LOOP

11. IF s=1 THEN y<=x(1i);
12. END IF;

13 END LOOP;

14. END PROCESS;

15. END behave;
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LIBRARY IEEE;
USE IEEE.STD_LOGIC_1164.ALL;
ENTITY EX2 IS
PORT(clK, rst: IN STD_LOGIC;
X - IN STD_LOGIC;
y :OUT STD_LOGIC_VECTOR (1 DOWNTO 0)):
END EX2;

ARCHITECTURE smachine OF EX2 IS
TYPE mySTATES IS (s0, s1, s2, s3);
SIGNAL currentS : mySTATES;

BEGIN
PROCESS (clk, rst)
BEGIN
IF rst="1' THEN
currentS<=s0;
y<="00";
ELSIF (clk' Event AND clk = '1') THEN
CASE currentS IS
WHEN s0 => IF x="1' THEN currentS<=s1;
y<="01";
END IF;
WHEN s1 => IF x="1' THEN currentS<=s2;
y<="10";
END IF;
WHEN s2 =>IF x='1' THEN currentS <=s3;
y<="11";
END IF;
WHEN s3 =>IF x="1' THEN currentS <=s0;
y<="00";
END IF;
END CASE;
END IF;
END PROCESS;

END smachine;
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ENTITY sysl IS
PORT(x : IN BIT_VECTOR(3 DOWNTO 0);
y : OUT BIT);
END sysl1;
ARCHITECTURE behave OF sys1 IS
BEGIN
y<=(x(0) AND x(1)) OR (x(2) AND x(3));
END behave;
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ENTITY sys2 IS

PORT(x : IN BIT_VECTOR(3 DOWNTO 0);

y : OUT BIT);

END sys2;
ARCHITECTURE behave OF sys2 IS
BEGIN

y<=(NOT x(0) AND x(1)) OR (x(2) AND NOT x(3));
END behave;

ENTITY sys3 IS
PORT(a, b, s : IN BIT;

y : OUT BIT);
END sys3;
ARCHITECTURE behave OF sys3 IS
BEGIN

y<=a WHEN s='0' ELSE b;
END behave;
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